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Part-I (Botany)
(2 S 2 Tfew Fe=iq)

1. Name the edible part of an apple. 1

Hitole] GO AR TN B

2. Why grafting is not possible in monocot plants ? ' 1

GGla) Cfgwe (@Rl 7w wed w2w 9 ¢

3. Name the micro-organism that converts milk to curd. 1
SIS 7 (51 FoIER B G RCeR A o |
4.  What is the function of DNA ligase ? 1

% @ @ =AiEesres 9 (F 2

5. What is missing link ? Describe briefly with an example. e
RISl TR A & 2 <5 SwrRaraed o3 3 fa |
Or / a4l
Define Recapitulation theory with examplés. 2
THERITE SRR Teama e fual |

6. What is transgenic plant ? Mention two advantages and one example of

transgenic plant. 1¥1=2
FeiaRT Sfgr I & 2 aeRe Sfome 707 JRdl Wi by Swizsd @l |
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Or/ 921t

Write on the importance of biopiracy. 2
TERFQATIR wwes R B |
7.  Differentiate allelopathy and antibiosis. 1¥1=2
AT eolf) i @FaRbE sjadieae T4
Or / &e:r

What is age pyramid ? Draw the expanding age pyramid and label its
parts. | I¥l=0

2ot PR e ¢ el Prafios B il o T B w1

8.  Write short note on the following : (any one) <

53 (I forit : (e @b19)
(i) Gene gun
& <

(i) Tools of genetic engineering

fomta wifeage sifE

(iii) Gene cloning

fom e
9. What are the conditions of biopétent? 2

IACAHHS 5% T 5 5 ¢
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Write about the function and principle of ELISA technique.

Or / g2t

ELISA @& 31 wi% e Raen fia |

10. Write scientific name and utility of the following plants : (any two)

1+1=2

were funt Sfemmes e O @ik aeee B (R wo1q)

(@)

(b)

(c)

(d)

Teak
(ba«

Indian ginseng
SRl

Chinchona

fostian

Sissoo

=z

11.  Write briefly the chemical origin of life on the earth. 3

AfRe Gieq TPIRER Seoifer R s B

Or / g3

“Survival of the fittest”, explain the statement with the help of Darwin’s

theory. 3

“QITOR TeEA”, TREE TR TS 3 B [ 9 |
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12.

13.

- 14.

What is tissue culture ? Write the advantages of tissue culture.
1+2=3

TN B ¢ TR ke g e |
Or / g3t

What is meant by somatic hybridization ? Give an account on necessary

steps of the method with an example. : 1+2=3

< ST T o e ¢ ST 2 e e 9 T T
fazl |

Define fermentation and describe briefly how alcohol is produced in this

process. : =3

o aifirai el fra e 2 »fs Tl TS e 1 28 ik 5 2o
Or / g

What are biopesticides ? Write briefly on biopesticides with examples.
1+2=3

05 FHAmT 5 2 THizaepz (SR [FEc e |

What is double fertilization ? Describe the process with diagrams from the

stage of megaspore formation to zygote formation. 1+4=5

2Rz & ?m%ﬂmmwwmmmaﬁrw:
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Or / Gt

Why meiosis is essential at the time of sporogenesis in angiosperms ?
Explain the process of development of male gametophyte in angiosperms

with suitable diagrams. 1+4=5

2aTG) TR @IET TS e Rere S R 2 eddial e
sgeeE i Awfe Soge e gl w41

15. What is genetic engirieering? Describe the major steps of gene cloning

technology. : 1+4=5
%ﬁﬂw%ﬂzq%?ﬁﬂ@’ﬁz@@@@ﬁmmaﬁﬁml

Or/ a%q .
Write an account of biotechnological applications in medicine. 5

%ﬁs&ﬁfﬁ@wﬁaﬁﬁﬁaﬁ@mmﬁmaﬁawml
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Part-1I1 (Zoology)
(ot =1ed ¢ efidfRes=)

T eEie A & 0
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1.  Fill in the blanks: (any two) x2=2
AA! 3T o[ T4 2 (R 1)
(@) Anterior part of sperm is called
ST (RS e I PR =
(b)) Archaeopteryx is a connecting link between reptiles and "
e 25 25 APy Wi T A G|
(c) Genetic constitution of an organism is called
T b GRE TG |
(d) Cancer causing viruses are known as
5 ol o = oizas W @ R =
2.  Answer any two : 1x2=2
frtcn 7519 Tl ol ¢
(@) What is interspecific hybridization ?



() What are the restriction enzymes ?

‘@RI e TR

(0 What is the first infective stage of malarial parasite in man ?

TR (RS (IR PRGN U A et & 2

(d) What is ex-situ conservation ‘s

g A @ 2

3. Answer any four : 2x4=8

faretzat sifebrq Tex ol

(1) What are the significance of crossing over ?

ARaife aFg @ 2

(b) Write briefly on haemophilia.
e fefmr fam viee |

(0 What do you mean by adaptive radiation ?

@ﬁﬁwﬁgﬁmﬁsw?

(d) Write the various components of immune system.

PRy wEe [fen Soe AR i
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() Write the various causes of water pollution.

ofl 2rey [{fen e svg B
() What are the factors of population growth ?

R 3fa R & oo

4.  Write differences between : (any two) 2x2=4

Rictzan 7619 =hey fort ¢

(a) Parturition and lactation

PR S T

(b)) Down's syndrome and Klinefelter's syndrome.

©IGTe fourw s R e

(c) Vaccination and immunisation

2B W% SR

(d) Convergent evolution and divergent evolution

TS TR S ST TR |

5.  Draw a neat labelled diagram of a human sperm. : 2r1=5

4% TR ST ARER Bize B i |
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Or / 59

Diagrammatically express the Watson-Crick's semiconservative models of

DNA replication. ; 3

@356 S e WifEs DNA 1 o sicafwre efegfoaaas Bl vl aom 741 |

6. What are sexually transmitted diseases ? Write its various types of

preventive measures. 1ele3
et e @t 3 TR TS @S 2 G @ eferaiE R e
Or / 9%t

Write the various methods of cancer detection and diagnosis. 3

FEoE [T T BareseiT safor

7.  Describe about the Pedigree analysis. | : : 3

AHRET 2976 Reeael Amfeon! 3991 41|
Or / 94t

Describe about the 'greenhouse' effect. 3

(IO AeR TS aefql 1 |

8. Describe the Mendel's laws of inheritance. 5

CIeEE IS TR 7 FYZ 991 41
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Or / 993

'DNA is a genetic material', explain the statement with the help of Alfred
Hershey and Martha Chase experiment. 5

‘C. @, @ 29 ol v, Sfetht weEe I o1 Mef oee 2_FE HgEe
G T | :

9.  Describe the process of the flow of energy in different trophic level of an

ecosystem. ‘ 5

RS o7 GBI Jfea (Nvs Fge «fe oar afen & w1

Or / 993t

What is ecological pyramid ? Explain different types of ecological pyramid
with diagram. 24355

s PRING & ¢ f[fen w@om T afe fFrifies Raw oo sizere
| '
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